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QD:1-IfN=T+11+111+1111 +..+111111111, then what is the sum of the digit's of N?

FREN=T+1T+111+ 1111+ +111111111 8, A N & 3iewl &1 a1 71 82
Options:

1) 45

2)18

3) 36

4)5

Correct Answer: 45

Candidate Answer: 45

QID : 2 - What is the sum of first 40terms of 1T+3+4+5+7+7+10+9+ .7

1+3+4+5+7+7+10+9+ ... & YT 40 Ua! T THT T &7

Options:
1) 1010
2) 1115
3) 1030
4) 1031

Correct Answer: 1030
Candidate Answer: 1030

QID:3-

g 1 1 1
What is the value of LA T

upto 9 terms?

1 1 1 :
55 G0E e e o
T 7
Options:
1) 222222222

2) 111111111
3) 555555555
4) 525252525

Correct Answer: 555555555
Candidate Answer: 555555555

QID:4-
What is the value of
36%x162+048x36
18x08+108x03-2.16"

3.6x1.62+0.48x3.6

& AT F4T g2
1.8x08+108x0.3-2.16

Options:

Correct Answer: 3
Candidate Answer: 2.4
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QiD:5-
g 19
1
1+
1
1+ 3
1+ —
X
of x?

=3 then what is the value

aﬁ;;=§ 2, ar x &1 71

Options:

1)2

2)3

3)1

4)4

Correct Answer: 2
Candidate Answer: 2

QID:6-

(2l sls)

[1_1]=1+1,menwhatisthe
7)7 "%

value of x?

& (g (alres s -3)-3)

Options:

16

2)8

3)5

47

Correct Answer: 8
Candidate Answer: 8

QD:7-

What is the value of
1 1 1

1

+ + +or "7
3Ix7T Tx11 11x15 899903

1 1 1

1

3x7  7x11 11x15 " 899x903

FT AT T g7

Options:

1) 21/509

2) 18/403

3) 25/301

4) 29/31

Correct Answer: 25/301
Candidate Answer: 25/301

QID : 8 - What is the unit digit of 15+ 25+ 3%+ __ +20%?

15+ 25+ 35+ . +20° &1 5HIE 3 T &?

Options:
1)0
2)5
3)2
4)4
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Correct Answer: 0
Candidate Answer: 0
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QID : 9-x,y and z are prime numbers and x +y + z = 38. What is the maximum value of x?

X, y U7 z SIATST AT § dUTX + y + z = 38 &1 x T 3ifAehdd 71 a1 82

Options:

Correct Answer: 31
Candidate Answer: 31

QID : 10 - N is the smallest three digit prime number. When N is divided by 13, then what will be the remainder?

N 1= 3iepl it Ta B STy G 81 w1d N &t 13 T S fovar sirar 8, at Qiwohet aram gim?

Options:

18

2)9

3)7

4)10

Correct Answer: 10
Candidate Answer: 10

QID : 11 - How many natural numbers are there between v261 and v45109?

V261 a1 V45109 & He7 fha-t urepfaes Ty &2

Options:

1) 144

2) 196

3) 168

4) 195

Correct Answer: 196

Candidate Answer: 196

QID : 12 - What is the value of v121 + v12321 + V1234321 + v123454321?

V121 +v12321 + V1234321 + V1234543271 &1 919 T &7

Options:

1) 12345

2) 123456

3) 12344

4) 123454

Correct Answer: 12344

Candidate Answer: 123456

QID:13-p3+q3+r3-3pqr=4.1fa=q+r,b=r+pandc = p +q, then what is the value of a3 + b3 + c3 - 3abc?

pP+q3+r3-3pgr=48i1aia=q+rb=r+paurc=p+qg,diad+b3+cd - 3abc H AT FATE?

Options:

Correct Answer: 8
Candidate Answer: 8

QID : 14 - If a and B are the roots of the equation x

2+ x - 1 = 0, then what is the equation whose roots are a® and p>?

g o uT B THIRROT X2 + x — 1 = 0 & 4l €, it ag THfieor o1 @ forads get o aur g° 82

Options:

1) x2+7x-1=0
2)x2-7x-1=0
3)x2-11x-1=0
4)x2+11x-1=0

Correct Answer: x2+ 11x - 1=0

Candidate Answer: x2+ 11x = 1=0

QID : 15 - If x and y are natural numbers such that x +y = 2017, then what is the value of (= 1)* + (- 1)Y?

IfE x TUT y UTehfcres TG SU USR8 b x +y = 2017 &, at (- 1) + (- 1)Y ST A FAT8?

Options:

1)2

2)-2

3)0

41

Correct Answer: 0
Candidate Answer: 0
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QID : 16 - If x + (1/x) = (V3 + 1)/2, then what is the value of x* + (1/x%)?

gl x + (1/x) = (V3 + 1)/2 &, d x* + (1/x*) &1 514 a1 82
Options:

1) (4v3-1)/4

2) (4v3 +1)/2

3) (-4v3 - 1)/4

4) (-4v3-1)/2

Correct Answer: (-4v3 - 1)/4

Candidate Answer: (-4v3 - 1)/4

QID: 17 -If a+aZ+ a3 - 1 =0, then what is the value of a3 + (1/a)?

gira+aZ+ad-1=0g,dlad+(1/a) & AF AT ?
Options:

Correct Answer: 2
Candidate Answer: 4

QID:18-Ifa—-(1/a) =b,b - (1/b) = c and c - (1/c) = a, then what is the value of (1/ab) + (1/bc) + (1/ca)?

afa-(1/a) =b,b - (1/b) =cauc - (1/c) = a & at (1/ab) + (1/bc) + (1/ca) &1 7 T &?
Options:

Correct Answer: — 3
Candidate Answer: - 9

QID : 19 - If the roots of the equation a(b — c)x? +b(c — a)x + ¢(a — b) = 0 are equal, then which of the following is true?

gfe geftetor a(b — ¢)x2 + b(c — a)x + c(a - b) = 0 & TeT sRTeR &, At F=fafEd & § oi- a1 wgh 82
Options:

1)b=(a+c)/ ac

2)2/b=(1/a)+(1/¢c)

3)2b=(1/a)+(1/¢c)

4) abc = ab + bc +ca

Correct Answer: 2/ b =(1/a)+(1/c)

Candidate Answer: 2 b = (1/a) + (1/ ¢)

QID : 20 - If [v(aZ + b2 + ab)] + [V(a2 + b2 - ab)] = 1, then what is the value of (1 - a%)(1 - b2)?

T [v(a2 + b2 + ab)] + [v(a2 + b2 - ab)] = 1 &, dt (1 - a2)(1 = b?) &1 A 1 &2
Options:

1)1/4

2) 4/7

3)5/4

4)3/4

Correct Answer: 3/4
Candidate Answer: [ NOT ANSWERED |

QID:21-1f 3x+4y — 11 =18 and 8x = 6y + 12 = 6, then what is the value of 5x — 3y — 9?

afE3x +4y - 11=18JUT8x — 6y + 12 = 6 &, @ 5x — 3y — 9 &1 A T &?
Options:

1)18

2)-9

3)-27

4)-18

Correct Answer: — 9

Candidate Answer: — 9

QID:22-Ifa+b+c=7/12,3a-4b+5c =3/4and 7a — 11b - 13c = — 7/12, then what is the value of a + ¢?

afla+b+c=7/12,3a-4b+5c=3/4dur7a- 11b - 13c = - 7/12 & a a + c HI A FT §?
Options:

1)1/2

2) 5/12

3)3/4

4)1/4

Correct Answer: 5/12

Candidate Answer: 1/2
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QID:23-
In the given figure, PQ = PS = SR and £QPS
=40°, then what is the value of ZQPR (in
degrees)?

& 7 I3y #, PQ=PS=SR FAT LQPS
=40° g, @ 2QPR w1 e (Bl ) T §2

P
Q S R

Options:

1) 45

2) 60

3)75

4) 50

Correct Answer: 75
Candidate Answer: 75

QID : 24 - In triangle PQR, C is the centroid. PQ = 30 cm, QR = 36 cm and PR = 50 cm. If D is the midpoint of QR, then what is the length (in cm) of CD?

f19sT PQR #, C &vsan 81 PQ = 30 §.#1, QR = 36 §.71. Ju1 PR = 50 §.#1. &1 af& D, QR &1 #eafawg g, aF CD &l aarmg (3.7, #) Fa1 62

Options:

1) (4v86)/3
2) (2v86)/3
3) (5v86)/3
4) (5v86)/2

Correct Answer: (4V86)/3
Candidate Answer: (5v86)/2

QID: 25-

In the given figure, AQ = 442 cm, QC = 62
cm and AB = 20 cm. If PQ is parallel to BC,
then what is the value (in cm) of PB?

& ag gl 7, AQ =442 I, QC =612
.. dur AB =20 @ @ I PQ, BC
& HHAICGH g, daf PB @1 A (G.HL #A) o1

& A

Options:

18

2)12

3)6

4)15

Correct Answer: 12
Candidate Answer: 12
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QID : 26 -
In the given figure, if AD = 12 cm, AE=8 cm
and EC = 14 cm, then what is the value (in
cm) of BD?

& % mpher A, Ay AD=12 ¥, AE=8
@ @ EC =14 @A & o BD & AT

(T &) = 7
A
AE

D L

A

E &
Options:
1) 50/3
2)15
3)8/3
4) 44/3

Correct Answer: 8/3
Candidate Answer: 50/3

QID : 27 - Two circles are having radii 9 cm and 12 cm. The distance between their centres is 15 cm. What is the length (in cm) of their common chord?

3 gt it T 9 At qur 12 B, §1 S O el & Aem el g 15 /.71 &1 Ikl ST Sitar s (.. 7) w2
Options:

Correct Answer: 14.4
Candidate Answer: 14.4

QID : 28 - Two circles touch each other at point X. Two common tangents of the circles meet at point P and none of the tangents passes through X. These tangents
touch the larger circle at points B and C. If the radius of the larger circle is 15 cm and CP = 20 cm, then what is the radius (in cm) of the smaller circle?

3 g fofg X IR Uer GER ot Tl it &1 gl At & AT TRy fofg P oR et & am als T <92f 31 X & 78 T[orelt & | I8 TR 78 g i foig B Ju1 C R wsf et 81 e 718
g &t fsar 15 @5, qar CP = 20 9.+t 8, A 8 ga H B (@4, F) w=ng?

Options:

Correct Answer: 3.75
Candidate Answer: 4.45

QID : 29 - Two circles touch each other at point X. A common tangent touch them at two distinct points Y and Z. If another tangent passing through X cut YZ at A and
XA= 16 cm, then what is the value (in cm) of YZ?

3 g7 Goh-gER At g X IR sl e € | Uk AT TR I &t Srer famgait Y aur Z R wusf ot 81 afE X @ oA arelt Ues o TusRea YZ Y A R et & auT XA = 16 9.7 §,
AYZ wraE (G5 F) F g?

Options:

1)18

2) 24

3)16

4)32

Correct Answer: 32

Candidate Answer: 32

QID : 30 - There are 8 equidistant points A, B, C, D, E, F, G and H (in same order) on a circle. What is the value of ~FDH (in degrees)?

Ueh g R 8 TFIR [ A, B, C, D, E, F, G 9T H (53t 7 #) €1 .FDH &1 71+ (f&eht #) &2

Options:

1)22.5

2) 45

3)30

4)425

Correct Answer: 45

Candidate Answer: 22.5
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QID:31-
In the given figure, Q is the centre of the
circle and £QOR = 50°, then what is the
value of ZRPQ (in degrees)?

& 7 T #, O UF ged o Few €
a9 £QOR =50° §, @ ZRPQ & AW

(3l #) =Fm §2
R

N

Options:

Correct Answer: 25
Candidate Answer: 25
QID:32-

Three circle Cy, C; and C; with radii ry, >
and ry (where ry < rp < ry) are placed as
shown in the given figure. What is the
value of r?

d ged Cy, Cp dul C; TSwd s
r,r AL E, (SR < <o) WG

?WﬁﬁﬁﬁﬁTWﬁlmiﬁrm
1 g7

Options:

1) v(rira)

2) (rq+r3)/2

3) (2rr)/(rq +12)

4)V(rq+r3)

Correct Answer: v(r{r3)

Candidate Answer: [ NOT ANSWERED ]

QID : 33 - An equilateral triangle of area 300 cm? is cut from its three vertices to form a regular hexagon. Area of hexagon is what percent of the area of triangle?

Teh TraTg et forent éther 300 @.#1.2 &, Y 35 A+l Mol & gor Tmwesyst 1A 3 forg hrer STraT &1 we3ST ol ether ST & esther ol fahaT wfaerd 87

Options:

1) 66.66%

2) 33.33%

3) 83.33%

4) 56.41%

Correct Answer: 66.66%

Candidate Answer: 66.66%
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QID:34-
In the given figure, PQR is an equilateral
friangle with side as 12 cm. Sand T are
the mid points of the sides PQ and PR
respectively. What is the area (in cm?) of
the shaded region?

& % arpfa & POR v wHEeR TR
¢ Srmedr s 12 ¥ 1S @ T
FAT: ST PQ TUT PR & Hew faeg
g1 omifed amr & &A%d (T /)
T &7 [

Options:

1) 10v3

2) 12v3

3) 9v3

4) 14v3

Correct Answer: 12v3

Candidate Answer: 12v3

QID:35-
ABCD is a rectangle. Pis a point on the side
AB as shown in the given figure. If DP =13,
CP = 10 and BF = 6, then what is the value
of AP?

ABCD TS HWE ¥l P, 851 AB W &
g & Star & & a1 gl # gaar arr
%1 3§ DP=13, CP=10 T BP=6 &,
dar AP @1 HIS F4T §7

D C
A P B
Options:
1) v105
2) V133
3)12
4)10

Correct Answer: V105
Candidate Answer: v105

QID:36-

In the given figure, PQRSTU is a regular
hexagon of side 12 cm. what is the area
(in cm?) of triangle SQU?

& 713 mgfa A, PQRSTU s THECHS
¢ former aem 12 &30 &1 B sQu
F Sher (W.AL2 ) FAT B
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Options:
1) 162v3
2) 216v3
3) 108v3
4) 54v3

Correct Answer: 108v3
Candidate Answer: 108v3

QID:37-

In the given figure, ABCD is a square,
BCXYZ is a regular pentagon and ABE is
an equilateral triangle. What is the value
(in degrees) of LEBZ?

& w1 gl A, ABCD TEH T §,
BCXYZ W& WA 9wl § dUT ABE U&
a7 i 81 <EBZ @1 Aw (Rl #H)

T 872
E

Options:

1) 102

2) 98

3)78

4) 64

Correct Answer: 102
Candidate Answer: 102

QID:38-
In the given figure, 3 semicircles are drawn

on three sides of friangle ABC. AB = 21 cm,
BC = 28 cm and AC = 35 cm. What is the

area (in cm?) of the shaded part?

& 7 pla A BegE ABC #r el
3T W 3 3neigea @A I §1 AB =21
#.AL, BC =28 | T AC =35 ¥
& THEifRd AET FT SEES (T2 #)
87 B

Options:

1) 588

2) 324

3) 294

4) 286

Correct Answer: 294
Candidate Answer: 324

QID : 39 - The sum of radii of the two circles is 91 cm and the difference between their area is 2002 cm?2. What is the radius (in cm) of the larger circle?

& it it Brsaradt ot T 91 .7 & o I Sethet & Hem T 3R 2002 A.H1.2 B 51 I <Y v (.. H) w82
Options:

1) 56

2) 42

3) 63

4) 49

Correct Answer: 49

Candidate Answer: 49
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QID : 40 - A right triangular prism has equilateral triangle as its base. Side of the triangle is 15 cm. Height of the prism is 20v3 cm. What is the volume (in cm3) of the
prism?

Teh TS PIYSTTR fH o SR oaTg Heget 81 st & oo 15 .4 &1 forew & Sré 20v3 S.A). 21 e o smaaw (3413 8) aan @2

Options:
1) 1125
2) 6750
3) 4500
4) 3375

Correct Answer: 3375
Candidate Answer: 3375

QID : 41 - The height of a cone is 45 cm. It is cut at a height of 15 cm from its base by a plane parallel to its base. If the volume of the smaller cone is 18480 cm3, then
what is the volume (in cm3) of the original cone?

Tk i Al Seirg 45 A7fY. 21 28 SaR D 15 A.H. W Goh el GRT I MR & THMIAR hieT ST &1 afe B i bt amaa 18480 .73 &, <t wet 2iep b siraa (9.#4.3 &) o
&

Options:
1) 34650
2) 61600
3) 36960
4) 62370

Correct Answer: 62370
Candidate Answer: 62370

QID : 42 - The ratio of the curved surface area and total surface area of a right circular cylinder is 2 : 5. If the total surface area is 3080 cmz, then what is the volume
(in cm3) of the cylinder?

Th ST TR e & dch THa Sthel qT el GEIT &thel Sl SUTd 2 : 5 81 AR et gEia &ther 3080 A.#1.2 &, At e ot airare (3713 ) ar @2

Options:

1) 4312v6
2) 3822V6
3) 4522v6
4) 4642V6

Correct Answer: 4312v6
Candidate Answer: 4522v6

QID : 43 - The radius and height of a solid cylinder are increased by 2% each. What will be the approximate percentage increase in volume?

ek 3 S i Frean qur $ams s Sl 2% § S ST &1 SRaH # o1 fohae ufdera dr gfg sinfi?

Options:
1)6.76
2) 5.88
3)6.12
4)3.34

Correct Answer: 6.12
Candidate Answer: 6.76

QID : 44 - A sphere of radius 21 cm is cut into 8 identical parts by 3 cuts (1 cut along each axis). What will be the total surface area (in cm?) of each part?

Tk 21 .5 Brsur arel et Bt 3 Therd (Sclich 3181 TR 1 cheld) TITTehY 8 THEY Ml & Shiel ST &1 Vdich WHT &l el YEig alsther (9412 &) am ghm?

Options:
1) 844.5
2)1732.5
3) 1039.5
4)1115.6

Correct Answer: 1732.5
Candidate Answer: 1732.5

QID : 45 - Two identical hemispheres of maximum possible size are cut from a solid cube of side 14 cm. The bases of the hemispheres are part of the two opposite
faces of cube. What is the total volume (in cm?3) of the remaining part of the cube?

& gAEY Afeehad Gurd ATY arel fefie e Teh 14 A5, ST dTet 319 O @ Il ST &1 e & TR © & & fIuid thefeh & 9T §1 91 & A9 AT o1 et 31y (G413 &)
&

Options:

1) 1556.33

2) 898.5

3) 1467.33

4) 1306.67

Correct Answer: 1306.67
Candidate Answer: 1306.67

QID : 46 - Identical cubes of largest possible size are cut from a solid cuboid of size 65 cm x 26 cm x 3.9 cm. What is the total surface area (in cm?) of all the small
cubes taken together?

Teh S1G g1 forgent A1 65 4.1, x 26 Q.41 x 3.9 @41, 8, & arfrehaw Grg 770 aTel GERey T ot et | @it SIS e o et oot guig &t (3.71.2 F) T 82
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Options:
1) 30420
2) 15210
3) 20280
4) 16440

Correct Answer: 30420
Candidate Answer: 30420

QID : 47 - A regular triangular pyramid is cut by 2 planes which are parallel to its base. The planes trisects the altitude of the pyramid. Volume of top, middle and
bottom part is V4, V; and V3 respectively. What is the value of V4 :V; : V3?

ok g FAYSITaR fORIfAE @l &t a1 St 39k SR & TR &, gRT el SraT 8| I forifie &t Sard ot aafyafora owd €1 U Sud, wear qun et 9T o1 Simad= shaen: Vq, Vy
qATV3 81 V1 Vo : V3 &1 A RIT 8?2

Options:

1)1:8:27

2)1:8:19

3)2:9:27

4)1:7:19

Correct Answer: 1:7:19

Candidate Answer: 1:7:19

QID : 48 - What is the value of [(cos 7A + cos 5A)+(sin 7A - sin 5A)]?

[(cos 7A + cos 5A)+(sin 7A — sin 5A)] &1 AT 1 §?

Options:
1)tan A
2)tan4A
3)cot4 A
4) cotA

Correct Answer: cot A
Candidate Answer: cot A

QID : 49 - What is the value of [1 = sin (90 — 2A)] / [1 + sin (90 + 2A)]?

[1 - sin (90 - 2A)] / [1 + sin (90 + 2A)] a1 =1 /T 22
Options:

1) sinA cosA

2) cot?A

3) tanZA

4) sin2A cosA

Correct Answer: tan?A

Candidate Answer: tan?A

QID : 50 - What is the value of sin 75° + sin 15°?

sin 759 + sin 15° oA A1 1 272
Options:

1)v3

2) 2v3

3) V(3/2)

4)3/v2

Correct Answer: v(3/2)
Candidate Answer: v(3/2)

QID : 51 - What is the value of [(cos 30 + 2cos 56 + cos 78)+(cos 8 + 2cos 30 + cos 50)] + sin 26 tan 36?

[(cos 36 + 2cos 58 + cos 76)+(cos 8 + 2cos 38 + cos 58)] + sin 26 tan 36 T A1 4T §?

Options:
1) cos 26
2) sin 26
3) tan 20
4) cot 0 sin 26

Correct Answer: cos 26
Candidate Answer: cot 6 sin 20

QID : 52 - What is the value of [2 sin (45 + 8) sin (45 — 8)]/cos 26?

[2 sin (45 + ) sin (45 - 6)]/cos 28 T {17 T 8?2

Options:

10

2) tan 26

3) cot 28

41

Correct Answer: 1
Candidate Answer: 1

QID : 53 - What is the value of sin (90° + 2A)[4 - cos? (90° - 2A)]?

sin (90° + 2A)[4 - cos? (90° - 2A)] & AT T 82
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Options:
1) 2(cos3 A - sin3 A)
2) 2(cos3 A + sind A)
3) 4(cos® A+ sin® A)
4) 4(cos® A - sin® A)
Correct Answer: 4(cos® A — sin® A)
Candidate Answer: 4(cos® A+ sin® A)

QID : 54 - What is the value of [cos (90 + A)+sec (270 — A)] + [sin (270 + A)+cosec (630 - A)]?

[cos (90 + A)+sec (270 — A)] + [sin (270 + A)+cosec (630 — A)] T HF T &2

Options:

1)3secA

2)tan Asec A

3)0

41

Correct Answer: 1
Candidate Answer: 1

QID : 55 - On walking 100 metres towards a building in a horizontal line, the angle of elevation of its top changes from 45° to 60°. What will be the height (in metres)
of the building?

Uk HRA h 3R &fast 3@r & 100 Hiex Tem & ITh! T1EY o1 379 hivr 45° F 60° gt ST &1 3ARA 6 Farg (Hiex 7) = ghfi?
Options:

1) 50(3 + v3)

2) 100(v3 +1)

3) 150

4) 100v3

Correct Answer: 50(3 + v3)

Candidate Answer: 50(3 + v3)

QID : 56 - The upper part of a tree broken over by the wind make an angle of 60° with the ground. The distance between the root and the point where top of the tree
touches the ground is 25 metres. What was the height (in metres) of the tree?

ek g7 T U AT Sifeft & hROT geane fft Y T & 60° T hIoT ST &1 578 3R o farvg ur ger ot oft ofy ot g & & Hemr i Y 25 Hier 81 ger ot Fag (dftex F) o oft?

Options:

1) 84.14

2)93.3

3) 98.25

4) 120.24

Correct Answer: 93.3

Candidate Answer: 93.3

QID : 57 - The height of a tower is 300 meters. When its top is seen from top of another towerthen the angle of depression is 60°. The horizontal distance between the
bases of the two towers is 120 metres. What is the height (in metres) of the small tower?

Ter HIR Y Sars 300 Hier 1 ST ST TET ht gER HHAR I FE G 3@ ST 8, dF A Hi0T 60° AT g1 81 S HARI o RT3 7eg gt 120 Hiex 81 SR HiR & S
(Hrez d) 7 E?

Options:

1)88.24

2) 106.71

3)92.15

4)112.64

Correct Answer: 92.15
Candidate Answer: 92.15
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QID : 58 -

The given table shows the number (in percent) of

employees working in different departments of an

organization. The table also shows the ratio of

males and females and the ratio of employees

living in city Z and employees living in city Y. The

total number of employees in the organization are

80000.

& a1 aifoer # oF Gerea & Rffes it &
F W @ FACRET B wEA (Fewd #) #;
gATAT AT §| TG AT qEET @uT Afgenst &
FIE B FA WG Z H F W HAAEAT o
I Y H T W@ FAATE F O #+rosit
guich ¥ Wew # o weEamat HroFEa

80000 &1

Number of | Gender / | City /
Department / employen_as I frr MR
- iﬁr M:F |Z2:Y

HET )
A 10% 7:3 1:9
B 22% 13:9 |3:19
C 12% 1:2 521
D 20% a:2 1:3
E 36% 8:1 5:13

How many employees of department A and C together are living in city Z?

T A G C & fohas e, 2reR Z & a1y fAereR | 3| &7

Options:
1) 9000
2) 9200
3) 8800
4) 8200
Correct Answer: 8800

Candidate Answer: 8800
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QID: 59 -

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

& a1 aifoer # oF Gerea & Rffes it &
F W @ FACRET B wEA (Fewd #) #;
gATAT AT §| TG AT qEET @uT Afgenst &
FIE B FA WG Z H F W HAAEAT o
I Y H T W@ FAATE F O #+rosit
guich ¥ Wew # o weEamat HroFEa

80000 &1

Number of | Gender / | City /
Department / employen_as I frr MR
- iﬁr M:F |Z2:Y

HET )
A 10% 7:3 1:9
B 22% 13:9 |3:19
C 12% 1:2 521
D 20% a:2 1:3
E 36% 8:1 5:13

Male employees of department E is what percent of the employees living in city Z from department A?

AT E & qou snefandt, faemT A & 21gR Z & 38 3@ il ol foha ufderd 82

Options:
1) 1600
2) 2400
3) 3200
4) 4200
Correct Answer: 3200

Candidate Answer: 4200
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QID : 60 -

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

& a1 aifoer # oF Gerea & Rffes it &
F W @ FACRET B wEA (Fewd #) #;
gATAT AT §| TG AT qEET @uT Afgenst &
FIE B FA WG Z H F W HAAEAT o
I Y H T W@ FAATE F O #+rosit
guich ¥ Wew # o weEamat HroFEa

80000 &1

Number of | Gender / | City /
Department / employen_as I frr MR
- iﬁr M:F |Z2:Y

HET )
A 10% 7:3 1:9
B 22% 13:9 |3:19
C 12% 1:2 521
D 20% a:2 1:3
E 36% 8:1 5:13

What is the ratio of male employee working in department B and D together to female employee working in department A and E together?

AT B @21 D ot fAetTent i o 3¢ Y& ShHaTRAT ahT fITT A 2T E ot feiTent shrdf ahe X6t Afgell shiaTiRal & e SIuTd 872
Options:

1)13:8

2)25:7

3)23:9

4)7:9

Correct Answer: 25:7

Candidate Answer: 25:7
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QID: 61-

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

& a1 aifoer # oF Gerea & Rffes it &
F W @ FACRET B wEA (Fewd #) #;
gATAT AT §| TG AT qEET @uT Afgenst &
FIE B FA WG Z H F W HAAEAT o
I Y H T W@ FAATE F O #+rosit
guich ¥ Wew # o weEamat HroFEa

80000 &1

Number of | Gender / | City /
Department / employen_as I frr MR
- iﬁr M:F | Z2:Y

HET ;
A 10% 7:3 1:9
B 22% 13:9 |3:19
C 12% 1:2 521
D 20% a:2 1:3
E 36% 8:1 5:13

On an average how many residents of city Y are working in each department?

ER Y & foham fRramedt sfgae ua frvmr & orf R @ 87

Options:

1) 11360

2) 12420

3) 9130

4) 10940

Correct Answer: 11360

Candidate Answer: 11360
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QID:62-

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

&r 7 aifaer # v GIed & fafies fEwsmit &
F R @ FHOEl fr gear (widwa #) @t
gATAT AT §| TG AT qEET @uT Afgenst &
AT W qUT W Z A T W wAAGT aur
I Y H T W@ FAATE F O #+rosit
quicht &1 Wow # Fo wAARAl H HET

80000 &1

Number of | Gender / | City /
Department / employen_a-s I frr MR
. iﬁr M:F |Z2:Y

HET ’
A 10% 7:3 1:9
B 22% 13:9 |3:19
C 12% 1:2 521
D 20% a:2 1:3
E 36% 8:1 5213

What are the total number of employee in department A and E together?

AT A 91 E # fiielTen et el chl Seet & &2
Options:

1) 29400

2) 17600

3) 46400

4) 36800

Correct Answer: 36800

Candidate Answer: 36800

QID : 63 - If a dairy mixes cow's milk which contains 10% fat with buffalo's milk which contains 20% fat, then the resulting mixture has fat (120/7)% of fat. What ratio
was the cow's milk mixed with buffalo's milk?

PIE ST TR AT g o a9 (She) a1 UfaRid 10% §, Y 99 & g o 1Y e & fSes 20% a9 & ot aRomeh frsror & g, a@r &1 (120/7)% 81 §1 7 &1 g fohe ergara # 99
& gy & 9y fAemar mar?

Options:

12:5

2)1:5

3)2:3

4)2:1

Correct Answer: 2 : 5

Candidate Answer: 2: 5

QID : 64 - In what ratio should tea costing Rs 300/kg be mixed with tea costing Rs 200/kg so that the cost of the mixture is Rs 225/kg?

300 F9/feRu i Hra arelt =g ot fohe srgaTa & 200 ST/ arelt T & T e S arfes ot 6t A 225 Fud/ e 8?2
Options:

1)3:1

2)1:3

3)1:4

4)4:1

Correct Answer: 1:3

Candidate Answer: 1: 3

QID : 65 - A and B started a partnership business investing some amount in the ratio of 5: 6. C joined then after 6 months with an amount equal to 2/3" of B. What
was their profit (in Rs) at the end of the year if C got Rs 21,600 as his share?

ATAIBA5: 6% U A FS A AT (A2 ek WigiaR ol fooma uR fmam| 6 7 ame C, B gRT faier it it fy & 2/3 3 s Ay fder awds foome & g8 mam afk ¢ &t
I9 fZed & ®U H 21,600 % fBera & dt af & ofd & a1 a1e7 (3 H) e ar?

Options:

1) 46800

2) 56160

3) 70200

4) 1,40,400

Correct Answer: 1,40,400
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Candidate Answer: 1,40,400

QID : 66 - A and B invest in a business in the ratio 2 : 5. If 50% of the total profit goes to charity and A's share is Rs 3.6 lakhs, the total profitisRs ________ lakhs.

AJuTB 2 : 5% Irgura # et oo # fasr fomam) afE e a1t &1 50% IRE al STer & 3R A o1 e 3.6 g & & I ol T ____ AT@ g

Options:
1)12.6
2) 25.2
3)37.8
4)16.8

Correct Answer: 25.2
Candidate Answer: 25.2

QID : 67 - Ais thrice as productive as C. Together they can complete a job in 22.5 days. If B joins them after they have worked for 15 days then in how many days can
they finish the rest of the job if B alone can do the job in 15 days?

A &Y IaTe et C § fopet &1 <At fierens fonelt s &t 22.5 et & ane Fendt 81 afS S a1 & 15 & i et & ae B+t 37k W1 IS A1 & df 3 9 §Q M ot foha 99T A A
7 afg B Srchert 39 & ot 15 o | R Tehar 87

Options:

16

2)3

3)9

4)2

Correct Answer: 3

Candidate Answer: 9

QID : 68 - If A, B and C can do a job working alone in 12, 18 and 36 days respectively. They all work together for 2 day, then B quits. How many days will A and C take
to finish rest of the job?

A, B @ C foreft e ot hmer: 12, 18 3R 36 A & o &d €1 § T+ft 2 R ok uar a1y o e € iR fOR B v BT a1 81 39 1 ot O @At o ol A 2T C &t fohamm g e
Options:

19

2)6

3)3

44

Correct Answer: 6

Candidate Answer: 6

QID : 69 - If A, B and C together do a job in 4 days, A and C together do the job in 4.5 days and B and C together do the job in 12 days then in how many days can C
alone do the job?

Tfe A, B 3R C foreht v it 4 G A et 8, A 9T C Ueh T1Y 39 o1 &t 4.5 37 & ot € U1 B iR C Acia 3T s ant 12 31 & oz €t C 31kt 39 & ot fohast R A
Hopar &7

Options:

1) 36

2)6

3)18

912

Correct Answer: 18

Candidate Answer: 18

QID : 70 - If A alone can do a job in 40 days then, in how many days can B alone do the job if together they can do the job in 8 days?

Tfg A Srehet Rt s Y 40 7 & et & Y B S1dhet 3T 1 ot fohawt fet & o urdw afe; 3 S feTene 39 o ot 8 A e At €2
Options:

1) 15

2)10

3) 20

4) 25

Correct Answer: 10

Candidate Answer: 10

QID : 71 - 1 bottle of honey costs Rs 240 but a pack of 4 of the same bottles costs Rs 768. What is the effective discount (in %) on the pack?

Teh Sl A16G i hFd 240 T0T § TReg ST IeIeT o IR e i hid 768 0 &1 Geh TR Ut Je (% #) 1 8?
Options:

1) 16

2) 25

3)10

4) 20

Correct Answer: 20

Candidate Answer: 20

QID : 72 - If the cost price of an article is Rs x . It is marked up by 100%. It is sold at Rs 1,200 after giving 20% discount. What is value of x?

frft SRg AT FT A x T T1 T8 100% TaTene SHfehd foham mami 38 20% e 37 & 918 1200 F0T H ST 7471 X & A T 87
Options:

1) 750

2) 1500

3) 1000

4) 2000

Correct Answer: 750
Candidate Answer: 750
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QID : 73 - A Rs 1000 box of cookies is offered at 10% discount and a Rs 400 bar of chocolate at 8% discount. If we buy 2 boxes of cookies and 3 bars of chocolate,
what is the effective discount we get (in %)?

1000 F & FehleT o Geh aierT IR 10% I Fe & 1Tl & 3R 400 F & Tleheic o Geh IR R 8% i e &1 STt & | T 57 et oh 2 afeg 3R didheic 3 3 IR @Gd & dl 81 el (o
T2 (% B) frerft?

Options:

1)9

2)9.25

3)8.75

4)85

Correct Answer: 9.25

Candidate Answer: 9.25

QID : 74 - The price of a product after getting 20% discount is Rs 3,024 which includes 5% tax on selling price. What was the marked price (in Rs) of the product?

20% B & uHTd forelt avg it Aia 3,024 F & o fasha Jou IR 5% ¢ () +ff anfiiet &1 39 avg W siftha 7wa (% #) /i 87

Options:
1) 3780
2) 2742
3) 3600
4) 2880
Correct Answer: 3600

Candidate Answer: 3600

QID : 75 - The price of a movie ticket was increased in the ratio 9 : 10. What is the increase in the revenue (in Rs.) of the cinema hall, if the original fare was Rs 180
and 2200 tickets were sold.

fOhe o feene Y S 9: 10 & SigaTa | ag! off| afs fmwT gfer # w1 fomvmam 180 Fuy om 8k 2200 feere 314 7g &, &t =1 g1t o Wrorea (¥uq #) # g5 gfg w®m 8?

Options:

1) 44000

2) 440000

3) 39600

4) 396000

Correct Answer: 44000

Candidate Answer: 44000

QID:76-If 2A =3B = 8C; WhatisA:B: C?

gf& 2A =3B = 8C; d A: B: C T ghm?
Options:

1)8:3:2

2)8:4:3

3)2:3:8

4)12:8:3

Correct Answer: 12:8:3
Candidate Answer: 12:8:3

QID : 77 - What is the Number of candidates who had applied if the ratio of selected to unselected was 14 : 25. If 35 less had applied and 10 less selected, the ratio of
selected to unselected would have been 3 : 5?

i g7 7g 3R 7 A TG Infieary T SruTd 14 : 25 o1 JF o Ifiaart 3 smde fomar o, afk 35 &H @l 3 siaes forar giaT R 10 &l &d g7 91T, F g 7Y SR A g T
IrieaRy &1 S1gaTd 3 @ 5 8T gar?

Options:

1)195

2) 205

3)185

4)175

Correct Answer: 195

Candidate Answer: 205

QID : 78 - What is the fourth proportional to 6, 24 and 83?

6, 24 3R 83 1 =T SgUTfIR T FIIT?
Options:

1) 249

2) 332

3) 166

4) 498

Correct Answer: 332

Candidate Answer: 332

QID : 79 - Rs 10,200 has to be divided between A,B & C so that A gets 2/3 of what B gets and B gets 1/4 of what C gets. How much more does C get over A (in Rs)?

10,200 ¥ A, B 3fR C # 39 g dic SY foh A &t B &1 2/3 et 3R B &t C &1 1/4 1 C &t A & o a1fdres faermm? (% )

Options:

1) 6000

2) 7200

3) 1800

4) 1200

Correct Answer: 6000

Candidate Answer: 6000
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QID : 80 - Before a battle there were the ratio of captains to soldiers was 2 : 7. During the war 25 captains and 100 soldiers were martyred. The new ratio of captains
to soldiers became 3 : 10. What is the number of soldiers after the war?

G 9 Usd chie R it &1 Sigard 2 @ 7 AT g & SR 25 e 3R 100 RAuret ereie §Q1 dheet ofR Ryonfeat o 7ar sigurd 3 @ 10 g1 7471 g5 o a1 Rmfeat &t e aar
ghft?

Options:

1) 250

2) 200

3) 150

4)100

Correct Answer: 250

Candidate Answer: 250

QID : 81 - The average marks of 18 students in an examination was 60. It was later found that the marks of one student had been wrongly entered as 63 instead of 36.
The correct average is:

fonet otern & 18 BT & ikl & 3iterd 60 uTI aTE # gg gTaT T o foneht &1 & 3ieh 36 & It 63 ford 7T & Tgt et BRI
Options:

1) 59

2)59.5

3)58

4)58.5

Correct Answer: 58.5

Candidate Answer: 58.5

QID : 82 - In a class of 60 students there are 20 girls who scored an average of 40 marks in the test, what is the average marks of the boys if the class average is 60
marks?

60 BT &Y Teh et & 20 dAfh ot ¢xe H ofiTd 40 Sich et | Al & ofiwa sick foha= g afe e a1 offera 60 sick 82
Options:

1) 60

2)70

3) 50

4) 80

Correct Answer: 70

Candidate Answer: 70

QID : 83 - The average of 44 consecutive odd numbers is 144.What is the largest number?

44 HATTa forwe STl ot ofid 144 81 9e St Tt i It g2

Options:
1) 189
2) 191
3) 187
4) 193

Correct Answer: 187
Candidate Answer: 189

QID : 84 - A batsman makes 100 runs in the 25" match of his career. His average runs per match increases by 1.4. Find his average before the 25t match.

Ueh ToeidTST 3707 thiRTR & 25-3 A9 § 100 I ST & | S9ah I ol 319 Ufd 7 1.4 Sear &1 25-3 8 & ugat ITehT 3fd a1 82
Options:

Correct Answer: 65
Candidate Answer: 65

QID : 85 - An oil refinery buys oil at Rs 3600 per barrel. There is 10% wastage. If the refinery wants to earn 5% profit then at what price should it sell including 8% tax
on selling price? (in Rs per barrel)

ek 3iT3et REpTgRY 3600 F03 Ui SRt o 34T & Sifsel Wliadt 81 598 & 10% 3 8t s1ra1 1 afe; Reprgt 5% 1e7 ured ohem areeit & at 39 Sifset o Jea W a1 anfey S 8%
&R ot fAet 81 (F0d ufd SRt )

Options:

1) 3674

2) 3711

3) 4219

4) 4536

Correct Answer: 4536

Candidate Answer: 4536

QID : 86 - A vendor sells a coconut at Rs 24 and suffers 24% loss. If he wants to make 14% profit, then at what price (in Rs) should he sell?

I Y fAghar AT Y 24 302 & a1 & Gt IY 24% ThAH 8T &1 AT T8 14% A1 HAT ATedT & o I fohg gour (Iuat #) R Aiaet S==r T1fgg?
Options:

1) 32

2) 30

3) 36

4)28

Correct Answer: 36

Candidate Answer: 36
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QID : 87 - A villager buys a goat and a sheep together for Rs 14,250. He sold the sheep at a profit of 10% and the goat at a loss of 20%. If he sold both the animals at
the same price , then what was the cost price of the cheaper animal?

ek TTHIOT Sfeh 3 Gk Tehdt 3R Goh WS TahdY 14,250 & 7 @IS | ST AS &Y 10% 1 & 91 3R Tenst ot 20% §T R 471 afe I8 31 SIHeR! ot 9AH Jed IR a1 af 9%
SER T 3 T T U1?

Options:

1) 8250

2) 6600

3) 7500

4) 6000

Correct Answer: 6000

Candidate Answer: 8250

QID : 88 - On a certain item profit is 120%. If the cost price increases by 10% then what will be the new profit margin (in %) if selling price remains the same?

foreft g TR AT 120% &1 afe o Hew 10% & a1 ST1aT & SR fasra Jeg agl 38 ot =1ar amst mifsfa @am gm? (% #)
Options:

1) 50

2) 60

3)100

4)90

Correct Answer: 100

Candidate Answer: 100

QID : 89 - If 35% are the passing marks. A student gets 200 marks yet fails by 24 marks. What is the maximum marks?

Ife urg 81 & foIQ 35% Sichl ht razgeha gl &1 g femeff st 200 3ies fiiet ur=g ag 24 =a=i @ thet gt 1| SHfARaH 3ich T 82
Options:

1) 820

2) 550

3) 640

4) 680

Correct Answer: 640

Candidate Answer: 640

QID : 90 - A student gets 22 marks more in French than what she got in German. Her German marks are 28% of the sum of her French and German marks. What are
her French marks?

foneft fremeff ot thar & S @ 22 ik s1fdies fAet | 39 S & A sick tha ofik s o At sichl & gl o1 28% &1 38 thar H foha sick fAet?
Options:

1)14

2) 36

3)18

4) 42

Correct Answer: 36

Candidate Answer: 36

QID : 91 -2% of a = b, then b% of 10 is the same as:

a@ 2% = b, d@ 10 &1 b% & TR g

Options:

1) 200% of a

a &1 200%

2) 20% of a/100
a/100 &1 20%
3) 20% of a/10
a/10 &1 20%

4) 200% of a/10
a/10 &1 200%

Correct Answer: 20% of a/100
a/100 &1 20%

Candidate Answer: 200% of a/10
a/10 &1 200%

QID : 92 - A man's annual income has increased by Rs 1.2 lakhs but the tax on income that he has to pay has reduced from 12% to 10%. He now pays the same
amount of tax as before. What is his increased income (in Rs lakhs)?

Qe efh & aTfieh STa 7 1.2 ARE & &l i BielT & TReg ST OR & a1t s 12% & 10% & St 81 3t off 7 I & o 3 & e vt 3 oM S9! a1t g3 o1 (ArE & H)
Rt &2

Options:

1)84

2)7.2

3)9.6

4)6

Correct Answer: 7.2

Candidate Answer: 7.2

QID : 93 - A car travelling at an average speed of 72 km/hr takes 9 minutes to travel a certain distance. By how much should it increase its speed (in km/hr) to travel
the same distance in 8 minutes?

72 .. /€ Y Sftea T & Ieiell 85 1S R MIAd gt aa et A 9 e &1 T9 ofcht 81 T & 8 e A g & & foig 38 Sroit =1er (k. +1./fen) fenat aerht gift?
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Options:
1)8
2)9
3)7
4)6
Correct Answer: 9
Candidate Answer: 9

QID : 94 - Train A takes 1 hour more than train B to travel a distance of 720 km. Due to engine trouble speed of train B falls by a third, so it takes 3 hours more than
Train A to complete the same journey? What is the speed of Train A (in km/hr)?

720 for. . ot T et A &7 A 1 37 B R gorT H 1 HeT S1feh AT &1 $9T H TR ST 3 hRUT B Y TIf Gk fgTs o gt el 21 Sret: St ot o 9 R § &1 B Y & A Y g
# 3 b2 1fdeh a1 §1 3 A Y Tt (6.t /eier &) gift?

Options:

1) 80

2) 90

3) 60

4)70

Correct Answer: 80

Candidate Answer: 80

QID : 95 - Two cars A and B travel from one city to another city, at speeds of 60 km/hr and 108 km/hr respectively. If car B takes 2 hours lesser time than car A for the
journey, then what is the distance (in km) between the two cities?

AR A TAT B AT 60 fR.#./der 3R 108 f35.#./der &t =11 I Toh 26R & ER AR I ST 1 TS AT A HR B, AR A I g A 2 ©E hH THY I & af & A6 o st el g
(fp.=f. ) R &2

Options:

1) 240

2) 270

3) 300

4) 330

Correct Answer: 270
Candidate Answer: 270

QID : 96 - B starts 4.5 minutes after A from the same point, for a place at a distance of 3.5 miles from the starting point. A on reaching the destination turns back and
walk a mile where he meets B. If A's speed is a mile in 6 minutes then B's speed is a mile in minutes?

B, A & T & 4.5 fme are St foig @ 39 T & forg wreter W anean & foradhr ot umferes foig @ 3.5 it 81 aeg W ugaa A Uis 981 § SR ek i aeh 9@ & STef ag B &
A g1 af A, 6 e & ua Hie getar g af B, ____ e & uep et e

Options:

1)8

2)10

3)12

4)9

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED |

QID : 97 - If compound interest received on a certain amount in the 3rd yearis Rs. 12,100, what will be the compound interest (in Rs) for the 4th year on the same
amount if rate of interest is 9%?

g fonelt T R FreR af & e are Fergfes =amsT 12,100 393 g o I8 AR R =19 o | e aren Iehqfe STt (Fudl #) &1 1T At &areT &2 9% 872

Options:
1) 17080
2) 15669
3) 13189
4) 14376

Correct Answer: 13189
Candidate Answer: 15669

QID : 98 - The amount received at 10% per annum compound interest after 3 yrs is Rs 10,648. What was the principal (in Rs)?

qTiies 10% i Tehq e TS &t & § 3 IT a1& e arerr e 10,648 U AT HeTe (IUTT H) T a1?

Options:
1) 8000
2) 9000
3) 8500
4) 7500

Correct Answer: 8000
Candidate Answer: 8000

QID : 99 - In how many years will Rs 25,000 yield Rs 8,275 as compound interest at 10% per annum compounded annually?

forem e a1 10% arftfer Tergfeg =amst & & & 25,000 & WR 8,275 & =Tef fAehm?
Options:

Correct Answer: 3
Candidate Answer: 3
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QID : 100 - What is the rate of interest if simple interest earned on a certain sum for the 3rd year is Rs 1,750 and compound interest earned for 2 years is Rs 3622.5?

=TS i &= R gift o foneft afYr or fier ad  aifSfa amemmor a1 1,750 & 9iR 2 o & forg Tenqfeg samst 3622.5 % 82
Options:

18

2)9

3)10

47

Correct Answer: 7

Candidate Answer: 9
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